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Que : Near Sea level
,
a height

increases of loom corresponds

to what pressure decrease

Answer
p
hop
D2=/ 00M

Given

f = to 225 kg . M

- 3
↳
Pbollem

at sea level

Iz = 100M

DP = ? kPa

D P = f.g.dz
→ DP = f.g.az

= ( 10225kg om
-

3) . @ogm.s
-2) Hoo m)

=
- 1200 . 5 leg

. m

- '
. 52

=
- 1.20K Pa
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Ocean

Que. For an internal ocean current of

5.m/s
,

find the radius of curvature

of time period to complete one circuit .

Assume a latitude where fo = to-951

Given Mi = Sm Is

Fc = co
-Y s

- I

find R= ? Km
P= ? h

p= -Mfi {
linlertial wind coasts around

a circular path of radiusR
"

where Mi - ontertial wind speed

f-c ⇒ Coriolis
parameter

R=•§m
( 10-4 s

-y
=
•50 km

-

P -- 2ft = 628325 = 17.45 h
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